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- General Instructions:
o All the questions are compulsory,
e This question paper has 4 sections. _
® Section A contains I mark questions, Section B contains 2 marks questions,
Section U contains 3 marks yuestions and Section D contains 4 marks g%ﬁSﬂﬂﬁS

e  Verify vour AisWers thoroughly.

SECTION A
1. Fill in the blanks: . (1 x 10=10)

@) The standard unit of weight is -~ .
b) Volume of a cuboldal box of dimensions 6 cm, 5 cm, 4 cm, is
‘e): Complete the following pattern,
Z{}i) 180, 160, 140,
@} 5_ .3:;

©) {k}mgﬁeiﬂhe given number tower.

) A closed figure has 4 vertices. It must have _ sides,
@%@%g-

hj The area of the figure is square units. |

i) 2@@2@ mi = { ml,

i ?emmeiez of a triangle of sides 6 cm, 7 em, and Scemis
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2. Choose the correct option: o  (x 5;;5}
a) The gx@ategi 4 digit number using the digits 7, 9, 0, 5 18 | | | '

(i) 7905 (i) 9705 () 9750 wysoo

b) The mirror image of the word ‘SCHOOL” is . |
1 22H00.] (i) JOOHDS (i) LOOHCS (i) JOOHCS
) C@rmg‘{ time is 12:25. A clock is slow by 10 minutes. What time will the clack shﬁw"?
N 1L 12:05 {(ii) 12:15 " (i) 12:35 (iv) 12:25
d) My age is 12 years, my father’s age is two years more than my mother’s age. My

-»11’@13@3?”"3 age is three times the age of mine. What is the age of my father?
B R () 36 (iii) 40 | (iv) 38

¢) Complete it:

R

{1 (i}

SECTION ~-B

" 3,: Answer the following questions : (2x 6?—&2)'
a) Length ofa recmgie is 60 m. Find its breadth if area of the rectangle is 1440 sq.m.

b) i) Change 3454 into an @quavaiem fraciwn with éenommator 14,

i) Change §- into an equwa}@ﬁt fzras;twn with numera‘tar 45,

¢) Convert 29@ kg 470 g nto gram,

d) Subiract 263 1 750 md from 500 L.

£) Fmd the area of a rectangular field of length 32 m and breadth 1300 cm.
f) The edge of a cubical box is 8 cm. Find the volume of the box.
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SECTION ~C

4. Aﬁéwér the following questions : \ | (3 x 5=15)
“a) Shikha’s bag weighs 17 kg 200 g. Ganesh’s bag is 500g heavier than Shikha’s bag. How
~much does Ganesh’s bag weigh? Find the total weight of both the bags also.
b) Do as directed —
i) - Convert = into mixed fraction.
i) | Convert 23{2 into impropér fraction,
¢) Thg perimeter of a square iz equal to the perimeter of a fectang%e of length 72 m aﬁﬁ
~ breadth 40m. Find the length of each side of the square.
d) A Ngg‘ih@maﬁss book has a length of 28 ¢m, breadth 21cm and height 2 om. Find the
| voiﬁme of 12 such Mathematics bouks. , |
é) A fm@r had a paﬁse of land having area 15400 sqg. m. From this he xmgafied a reﬁiangu};ar
pice of 1&11@1 having length 120 m and breadth 90 m. Hitesh saw that the farmer was tired
50 Hztssh m@é to help him irrigate the remaining field.

i) HGW mﬂch field was irrigated by Hitesh?
{i} Which value is reflected by Hitesh?

SECTION-D

5‘. A;}l?‘??é;“_\ih@ i‘%ﬁigw%nngsiiﬁm : h - ‘(é %. 2=8)
a) A gig@p;keep@r pmchaséd 307 50 ml of mineral water on the first day, 357 200 ml on the
| sgfzgﬁd éay_gnc% 2817 100 mi on the third day. Whaﬁ is the total quantity of mineral Watelél |
purchased on the three days? He sold 80/ 720 s/ of mineral water. How much mineral
water is left Wzth him? | | |
- b) Rﬁa stitched a lace border on a rectangular scarf whose length is 60 cm and breadth is

40 cm, What length of lace did she use if she stitched 3 such scarves?



